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Placé sur Processors
Buffers *
Buft i + Processor name : string
+ Buffer name : string e z + |s preemptive: boolean
+ Buffer size : natural Exécuté sur N Qupamump: integer
+ Scheduler type : enumeration
*
*
Tasks A
Placé sur
+ Task name : string
* + Priority : integer
+ Period : natural
i + Capacity : natural
| + Deadline : natural *
W 't ‘/R d + Jitter : natural
rite/rRea + Offset : natural
+ Start time : natural Shared resource
+ Date : integer + Blocking time : natural
+ Size : integer + User-defined * * + Resource name : string
parameters ! + Initial state : integer
I + Protocol : enumeration
I
|
* |
. |
Send/Receive |
+Date:integer - - oo m oo Allocate/Release
+ Size : integer
+ Date : integer
*
Messages

+ Message name : string

+ Size : natural

+ Deadine : integer

+ Jitter : integer

+ Period : integer

+ User-defined
parameters

(2]















XML description of
an application
(files)

Priority stage

Predefined and user-defin
schedulers or
task activation pattern

Compute

Queueing stage

scheduling

Event table

Predefined and user-define
event analyzers

Do event table
analysis

(Canbe imported/exported
from/to XML files) .

3
' Ready tasks—= | | Compute priorities —»
| .

I Min priority
[NEREEREN|

[TTTTTT1] Max priority|

Election stage

XML
results

Display
results




start section



priority  section

election section

task activation section

priority  section
dynamic priority
start section start time period deadline



activation number

priority  section
election section

Set



Buffers

Appeler

Queueing_System

+ Buffer name : string

+ Buffer size : natural

+ Buffer location : string

+ Buffer roles : buffer_roles_tablg

Contenir

Buffers_Set

+ name : queueing_system_type
+ arrival_rate : arrival_rate_table
+ service_rate : service_rate_table
+ avg_service : double

+ var_service : double

+ méthodes abstraites

+ Qs_Average_Waiting_Time

+ Qs_Average_Number_Customer
+ Qs_Maximum_Waiting_Time

+ Qs_Maximum_Number_Customer
+ Next_Customer_Arrival

+ Next_Customer_Departure

Queueing_System_Mm1

Queueing_System_Mpl

Queueing_System_Ppl




Queueing System:Mm1
Queueing System:Mg1l




nb flow in
nb flow out




Queueing System

Queueing System




Qs Maximum Number Customer

Get Probability Of State
Get Probability Of Full Buffer



Buffers

Qs Maximum Waiting Time Qs Maximum Number Customer
Queueing System

2:N
2N +1

Qs Average Waiting Time Qs Average Number Customer
Queueing System






Buffers Buffers Set

Queueing System
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Evaluateur

Generateur Serveur
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Evaluateur Condition Evaluateur Surveillance

Interpreteur Condition
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Interpreteur Commande

Evaluateur Condition

Interpreteur Commande

Interpreteur Commande Commande
Commande
V ers Robot
Etat
Emetteur
Commande
IThm
lhm Etat

lhm Etat



Evaluateur

Interpreteur
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Interpreteur Condition
Condition Interpreteur Commande
Evaluateur Surveillance
Commande Commande



Requete Evaluateur Condition

Tampon Etat Interpreteur Commande Reqguete Interpre
teur Commande

Wmax = 2:Pcons
20000
40000

Jcommande = rRequete Commande

Jlnterpreteur Commande — rRequete Interpreteur Commande
JEvaIuateur Conditon = rRequete Evaluateur  Condition
JRequete Evaluateur ~ Conditon — rInterpreteur Condition
JRequete Interpreteur Commande = ['Evaluateur  Condition

JRequete Commande — rInterpreteur Commande
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i=0
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